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QUESTION 1

The following SAS program is submitted:
proc format

value score 1 - 50 = "Fail\

51 - 100 = "Pass\\

run;

proc report data = work.courses nowd;
column exam;

define exam / display format = score.;
run;

The variable EXAM has a value of 50.5.
How will the EXAM variable value be displayed in the REPORT procedure output?
A. Fail

B. Pass

C.50.5

D. . (missing numeric value)

Correct Answer: C

QUESTION 2

Which of the following programs correctly invokes the DATA Step Debugger?
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A

data WORK.TEST debug:
sat WORE.PILOTS.
State=scan(cityState. 2.’ *);
if State="HE' then description='Ceatral’
Tun,

B

data WORK TEST debugger:
==t WORK, PILCTS.
State=scan{cityState.2.' '):
if State='NE' then description="Central’
IHin

C

data WORK TEST - debug:;

=t WORK PILOTS:

State=scan(cityState. 2. ' "):
if State='HE' then description='Central’.
Tun;

D

data WORK K TEST - debugger:

==t WORK PILOTS;

State=scan(cityState 2,.' ')
if State='HNE' then description="Central’;
run.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 3

Given the following code:

proc print data=SASHELP.CLASS(firstobs=5 obs=15);
where Sex=\\'M\\';

run;

How many observations will be displayed?

A 11

B. 15
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C. 10 or fewer
D. 11 or fewer

Correct Answer: D

QUESTION 4

The value 110700 is stored in a numeric variable named SALARY.

Which FORMAT statement displays the value as $110,700.00 in a report?
A. format salary commall.2;

B. format salary dollar8.2;

C. format salary dollar11.2;

D. format salary comma8.2 dollar8.2;

Correct Answer: C

QUESTION 5

Which statement specifies that records 1 through 10 are to be read from the raw data file customer.txt?
A. infile \V'customer.txt\\' eof=10;

B. infile \\'customer.txt\\' obs=10;

C. infile \V'customer.txt\\' obs=10; D. infile \\'customer.txt\\' obs=1-10;

Correct Answer: D
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